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Q1. The terminal network shown in the figure consists of 6 resistors. The points A, Cand E all are
at potential 20 V while points B, D and F are at potential -10 volt then potential of junction O
will be

(a) Zero (b)10V (e)15. Vv (d) -5V

Q 2. Find the equivalent resistance between points Aand B :
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Q3. Inthe circuit’'shown, the galvanometer shows zero current. The value of resistance Ris :
— |+ -:2\1 5Q
2V
R
(@1a (b)2 Q (c)aQ (d)9qa

Q4. Two current elements P and Q have current voltage characteristics as shown below; Which
of the graphs given below represents current voltage characteristics when P and Q are in
series
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In the network shown in the figure below; calculate the potential difference between Aand
B ?(Vg-Vy4)=
l_fvaA
Y 208 < $30 103
NEENE Y,

6V,

(@ 1v
(b) -1V
(c)-2V.
(d@)r-2v

Find' the equivalentresistance betweena & b
20
W

50

nnnnn
.....

(a)én
(b)s;Q
(C);7Q
()20

A battery of emf E and internal resistance r is connected across a resistance R. Resistance R
can be adjusted to any value greater than or equal to zero. A graph is plotted between the

current (i) passing through the resistance and potential difference (V) across it. Select the
correct alternative(s) —
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Qo.

Q 10.

Q11.
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Va
(volt)
10

|
2 (ampere)

(a) internal resistance of battery is 50hm

(b) emf of the battery is 20V

(c) maximum current which can be taken from the battery is 4A
(d) V-i graph can never be a straight line as shown in figure

Consider an infinite ladder network. A voltage is applied between points A & B. If the voltage
is halved after each section. Find the ratio R{/ R,.

A VW
R1 R1 Rl
R2 R> R2
B
(a) 1/2
(b) 1/3
(c)2

(d) None of these

The emf of the battery shown.in-the\figure is given by —
2Q 2Q 1Q

eT %GQ %ZQ 1Q
| 1A

@)6'V (b) 12 V (c) 18 V (d) 8V

In the circuit shown in figure , the current'through —

30 20) 2Q
i R AWn—EB
|

AN
‘|'9V 89% 8Q§ 40
AN AN AN
20 D 20 C o
(a) the 3ohm resistor is 0.50 A
(b) the 3ohm resistor is 0.25 A

(c) the 4ohm resistor is 0.50 A
(d) the 4ohm resistor is 0.25 A

There are two concentric spheres of radius a and b respectively. If the space between them is
filled with medium of resistivity p, then the resistance of the inter gap between the two
spheres will be

(a) 47r(l€+a) (b) ﬁ (% + 2)
03 @ G-3)
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Q13.

Q 14.

Q15
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The equivalent resistance between point A and B is -

S5

@4r
(b) 2r
@©r

(d)r/a

The equivalent resistance between A and B in the given circuit

(a) R (b) R/2
(c) R/3 (d) 2R/3

A 10V car battery with negligible internakresistance is'connected to a seriescombination of
a 40resistor that obey’s Ohm’s law-and a thermistor that does not obey"Ohm’s law,-but
instead has a current —voltage relation ¥, = al + 12 with « = 20@nd f\= 40/4./The
current through the 4.(2 resistor is

(@1A (b) 2.A (c) 2/5 A (d)5A

Find current in\wWire*AB ?

(@) 1A
(b) 2A
(c) 3A
(d) 4A
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Answer Key
Ql b Q2 b Q3 a Q4 c Q.5 a
Q.6 b Q.7 a Q.8 a Q9 b Q.10 d
Q.11d Q.12 d Q13 b Q.14 a Q.15 a

Kota DPPs refined by Physicsaholics Team.



https://www.physicsaholics.com/
https://www.physicsaholics.com/
https://unacademy.com/@physicsbyprateekjain

PLUS [[ele]lohd

India's Best Educators

Interactive Live Classes

Structured Courses & PDFs

Live Tests & Quizzes

24 months

18 months

12 months

6 months

a Add a referral code

¥2,333/mo
¥2,625/mo
¥3,208/mo

%4,667/mo

Use code PHYSICSLIVE to get 10% OFF on
Unacademy PLUS.

PLUS [[sle] N lohd

India's Best Educators
Interactive Live Classes
Structured Courses & PDFs

Live Tests & Quizzes

24 months ¥2,100/mo

+10% OFF

18 months ¥2,363/mo
+10% OFF ¥4

12 months ¥2,888/mo
% OFF 2:

¥4,200/mo
% OFF >, 2

i‘_ Awesome! PHYSICSLIVE code applied




Written Solution
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Combination
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Q.1) The terminal network shown in the figure consi Istors. The points A,
C and E all are at potential 20 V while points B, * potential -10 volt

then potential of junction O will be
“5
/\ ‘\

(a) Zer@ %\\99 OILA (d) -5V
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Q.2) Find the equivalent resistance between pmr&i@

v o]

L 1
@ il
P Rega
(a) 2O




Q.3) In the circuit shown, the galvanometer shows z @ The value of
resistance R Is . |

@@@ﬂ

R¥s
u/@g:(b) ()4 O (d) 9O
VGH«a& acvesx
@?%& Zv=1LlRr= 2R
RS
ZR+lo= 2R

(R =10 , R= \JL




Q.4) Two current elements P and Q have current voltage characteristics as shown
%\ age characteristics

below; Which of the graphs given below represents
when P and Q are in series RN '
: ¥ > ) %—;\%—% e

5V O L= 1A
P.D (volt)




Q.5) In the network shown in the figure below, calc @tential difference
between Aand B ? (Vp- V) = %
LY @S
6




Q.6) Find the equivalent resistance between a &i @
A AN

_.b




Q.7) A battery of emf E and internal resistance r Is con across a resistance R.
Resistance R can be adjusted to any value greater th% to zero. Agraph Is

plotted between the current (1) passing through tl e and potential
difference (V) across it. Select the correct alterna

V*z,\\w @
(vol
x < X{X\‘ /\g/ S *u =-Y
Wrnal resistance k«{ ohm Wbt < ¢
O -
(b) emf of the ba ”

2 (ampere)

(C) maximu |ch ca rom the battery is4A  C—-iov

(d) V-1 Q Tﬁever be s\ra Ine as shown In figure f;z,\%

~




Q.8) Consider an infinite ladder network. A voltage | ied \between points A &
B. If the voltage Is halved after each section. Fing-t % iFR,.

R, , R
/@J = = il _ |
\92 o ¥)
2?:& -:,-]2 o
R




Q.9) The emf of the battery shown in the figure I |‘ |\®
C,
: 2
&
]
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£
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(a) 6V

P2
@ﬁ
P

€:|2\/4

(c) 18V

(d) 8V







Q.11) There are two concentric spheres of radius a a ctively. If the space
between them is filled with medium of resistivit Istance of the inter
gap between the two spheres will be ﬁ%
le%lﬁ+ancx 0'3' d }} LY ‘?? 39\&9
AR = F d x 4
aJZQ

b2







Q.13) The equivalent resistance between A and B @IFCUH

@& %@%“”
e @@g& T s
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e Is.connected to a series

‘thermistor that does not
ionV = al + BI* with a =

Q.14) A 10 V car battery with negligible internal resist
combination of a 42resistor that obey’s Ohm’s law
obey Ohm’s law, but instead has a current —voltage rel
20 and f = 40 /A. The current through /t}he r% i f

2L+ ¥l +hi =

| U+
<—“—‘f—»\4§& EENO\\2g




Q.15) Find current in wire AB ?
@ e VA A
W s

> oL, o
M {o:Jg"@% Ny )
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